


2 kg of potatoes |6 kr kapTodens

loaf of bread nayka 4yas
0.5 kg of bananas 300 rp Myku
300 gr of flour KopobKa coka

a bar of chocolate | 0,5 kr konbachol
460 gr of sugar baHka Kode
1 pint of milk S Kr Nyka

1.5 kg of 1. 5 KI MOPKOBW
cucumbers
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T, 1



0.5 kg of tomatoes |f£ 2.50/kg

2.5 kg of potatoes  |£ 1.70/ kg

200 gr of butter f 3.60/ kg

2 kg of apples £ 1.90/ kg
1.5 kg of meat f 6.50/ kg
350 gr of jam £4/kg

UTOIO: £21,17




 There were 4 times more kilos of tomatoes
In one basket than in another one. After we
put 30 kilos of tomatoes from one basket to
another, in both baskets there were the
same quantity of tomatoes. How many
tomatoes were there in each basket at
once?

* B ogHy Kop3nHy nonoxunu B 4 pasa
bonbLle Kurorpamm ToMmaToB, YEM B
opyryto. ['locne Toro, Kak U3 nepsou
KOpP3uHbI nepenoxunu B gpyryto 30 Kr, B
00eunx KopamHax ToMaToB CTano NOpPOBHY.
CKonbKO KunorpaMmm ToMmaToB ObIno B
KaXX[oW KOp3nHe rnepBoHa4vanbHO?



bbino Ax X

CTalno  4x.30 X+30

4x-30=x+30



